Model eye

AIM

The aim of this experiment (normally done as a demonstration) is to help you understand more about the working of the eye and the correction of long and short sight by lenses.
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YOU WILL NEED

A model eye  Normal eye lens (+8D)  Short sighted eye lens (+11D)  Long sighted eye lens (+5.5D)  Concave meniscus correcting lens (-3D)  Convex meniscus correcting lens (+2.5D)  Plasticine   High intensity light source  Retort stand and clamp   Fluorescein solution 

WHAT TO DO

Set up the model eye with the three eye lenses in place (+11D, +8D and +5.5D). Shine light from the high intensity through the lens +8D lens and show that it is focussed on the back of the flask – back of the eyeball. This is a normal eye.

Repeat this using the +11D and +5.5D. The +11D will bring the light to a focus in front of the back of the flask (short sighted eye) while the +5.5D will bring it to a focus behind the back of the flask (long sighted eye). You can check this by finding the focus with a piece of white paper held behind the flask.

Now use the –3D and + 2.5D lenses to correct for short and long sight, holding these in front of the +11D and +5.5D respectively to bring the focus back onto the back of the flask.
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